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Response Review

o Performance Review Report
* Response Review

Mark(s): 5/5

Q.11 bl g 5 3 science branch

Which branches of science studies all living organisms? ¢ daal) sl g8 g alal) £ g gi
A. Earth Science Ga agle A
B. Life Science slall agle B
C. Physical Science Al ) ashel) C

7
D. Environment Science Al ashedl D
Learning Outcomes Covered
o G7.1.123
a. O
A
...... — e — R weeeeeeeeeeeany
H
H
B 1
...... i e I R SR |
e O
C
a0
D
Mark(s): 5/5
Q.2: s Jsall PERIODIC TABLE
< F = 5 = o = e ;
Which of the following lists of elements forms a group on sl 59 Joaal) B de gana oS5 AN jualinll Al 68 (ha (o)
- - (A P
the periodic table shown down? falia)
Jolizl )l Jgaxdl
1 s ™
e PERIODIC TABLE OF THE ELEMENTS B3
1 H };e
1008 | 2 3 014 15 16 17 |aem
3| 4 S| e 78] |10
Li Be B C N F Ne
6941 9012 10 81 1201 1401 1600 19 .00 218
3 11 12 13 14 15 16 17 18
Na | Mg allsi| P | s | alar
29 | a3 | 3 4 5 6 7 8 9 10 11 12 | 269s | :mo0 | 3097 | 3207 | 3545 | 399
19 20 21 22 23 24 25 26 27 28 29 30 3 32 33 34 3s 36
4 Ca Ti | vV |Cr [Mo| Fe [ Co | Ni | Cu | Zn | Ga | Ge | As | se | Br | Ke
¥10 008 496 4788 08 5200 paild b33 > 5883 86 353 65 5% o7 ne 49 7897 %0 23 50
37 | 38 | 39 | 40 | 41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | s0 | 51 ] 52 | s3 | 54
Rb Sr Y Zr Nb Mo Tc Ru Rh Pd Ag Cd In Sn Sb Te 1 Xe
547 762 89 9122 g 9595 &%) w0 1029 1064 1079 14 1148 187 1218 1278 169 1313
ss | S6 | 57 | 72 | 73 | 74 | 75 | 76 | 77 | 78 | 719 | 80 | st | 82 | 83 | &% | 85 | 86
6| Cs | Ba|La|Hr | Ta| W | R |Os | Ir [Pt [ au|Hg | T1 | Pb | Bi | Po | at
1329 1373 1389 1783 1809 1838 1882 1902 922 11 1970 2006 2044 2072 2090 Qo e [e22]
87 88 89 104 105 106 107 108 109 110 111 12 113 114 115 116 n7 118
7| Fr | Ra | Ac | Rf | Db | Sg | Bn | Hs | M | Ds | Rg | Cn [ N0 | P | Me | Ly | Ts
Q25 [85.)] em [V (3] Q63) (334} 263) 265 281 [#21] [ 3)] o) 289 om) 293 2% Q%)
58 59 60 61 62 63 64 65 68 69 70 71
Ce Pr Nd Pm |Sm Eu Gd b Er Tm |Yb u
180 1 140 9 442 145) 104 is20 as?3 1589 673 689 730 8730
20 91 92 93 94 95 96 97 100 101 102 103
Th Pa v N Pu Am Cm Bk Fm Nd No Ly
p320 310 piso :!E) 248 [243) 247) 247) 257 258) 258) 262)
Learning Outcomes Covered
o 1-1-4
o G74.1.14
R R R .
a.10 H
: :
:F, Cl, Br, |, At, Ts '
e e i

b. O
B, Si, As, Te, At, Og

e O
C,P,Se,|,Rn

d. O
Na, Mg, Al, Si, P, S, Cl, Ar
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Mark(s): 5/5

Q.3: e st Chemical change

Which of the following is NOT a sign of chemical ¢ Abadl) il ahpéisa e o A Laa q;f

change?

MIJ

Gl G oo elall daad

- 2 Al jle wlalad
color change Freezing of water Energy change Bubbles

Learning Outcomes Covered

o 1-1-3
a. O
wio i
: 2 :
c. O
3
d O
4
Mark(s): 5/5
Q.4: oa M54 i speed and time
Using the graph shown below slial Alul) proyl) Laddiia
During which time period did the speed constant? A5G Aol 085 Al il (gl B
25
_;, —3‘ 20
2
§_ E 15
vy
10
5
0 - >
0 10 20 (s);fa?le 40 50
Time (s)
A. 0-10s
B. 10-20s
C. 20-30s
D. 30-50s
Learning Outcomes Covered
o 1-2-3
a. O
A
wio T i
! » :
c O
C
d. O

(ot lm sl jinia e Mansour Mesfar Nasser Salch Al Karbi( 767019 ) - 12021-2020 - I39! Joaill s - el usal sll il s el glaial



Mark(s): 5/5

Q5:.
the graph below of temperature over time as a substance “lall Alall o La Bl i e Gagll g a g 850 ad) A0 il olid] ALl a1
. i Ll ) a3 Ablad Y
changes from solid to liquid to gas €5l a0 4 a5l s i a8 (il il i ) 10 AE Y 51
Which numbers in the graph shows the temperature of a
substance does not change during a change of state?
t 5 ] 7 Lt
2 d\ b 1 \
8 3 & 3
- 2 =b _—1‘ 2 N
£ AN S
Adding Thermal Energy = Gyl Ul Dla) »
A. 1and3 351 .A
B. 3and5 553 .B
C. 2and 4 452 .C
D. 1and5 5:1.D
Learning Outcomes Covered
o 1-1-3
a. O
b. O
B
ofo T i
! c :
d. O
D
Mark(s): 5/5
Q.6: yalial) Ciia classification of element
Which of the following is correct about the
classification of element 1 and 2 in the graphic below? A Y | Crpainl) Cidiatl Al s b Laa @i
2
1
A. 1a metal and 2 a nonmetal Y2381 A
B. 1a metalloid and 2 a nonmetal Y2y sliauig B
C. 1ametal and 2 a metalloid SBai2 1 C
D. 1anonmetal and 2 a metal W25 38Y1 D
Learning Outcomes Covered
o 1-1-4
o G74.1.1.4
a. O
A
b. O
B
efo T :
: c :
d. O
n
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Mark(s): 5/5

Q7 ...
Which of the following is useful in electronic devices Loy Slalilly 3 gusaslls duig ASIY) Bgad) A ale aliiow b Laa o
such as computers, televisions, and solar cells? ?2\.3“.:\1\
A. Gold caldll A
B. Carbon 0sA B
C. Silicon OsSaleadl L
D. Silver Lail D
Learning Outcomes Covered
o 1-1-4
a. O
A
b. O
B
= :
: ¢ !
d. O
D
Mark(s): 5/5
Q8.
Which of the following is true according to the figure below? ‘ foldal gl sl JE Gl Lo A B0 2 S )
sl
e neutron
nuclae.’:;\(/’r—_: / )
‘. | proton
cietiron cloud
A. Most of an atom’s mass is concentrated in a small area called nucleus Bl gill o238 o dalie A € 305 M) ALK alaas A
B. Nucleus contains of protons and electrons Clig pSY g ligigyll Bl B an g B
C. Nucleus charge is neutral Uil 8) gill Ains C
D. Neutrons can found in the electron cloud Gl g W) Alan A S il 2al g8 ) (Ses D
Learning Outcomes Covered
o 1-1-3
wio T mmmmmmmm—m— :
: A :
b. O
B
c O
C
d. O
D
Mark(s): 5/5
Q.9: {sked) 35 Balance equation
Which of the following is unbalanced equation? gign pf Aelbas Ao oL Laa
A. 2KCl04 = 2KCl + 30,
B. CH, + 20, - CO, + 2H,0
C. Fe,0; + CO = 2Fe + 2CO0,
D. H2C03 - HZO + COZ
Learning Outcomes Covered
o 2-1-3
a. O
A
b. O
B
elo T :
: c :
d. O
D
(ot gla peali jinsa ) suale Mansour Mesfar Nasser Salch Al Karbi( 767019 ) - 52021-2020 - Js¥1 Jaaill 1tg5 - plall jlaadd) gl ool - el Glatal



Mark(s): 5/5

Q.10: Zsiaall 26 Y1 significant figures

Which of the following measurement is false

according to the number of significant figures?

Sy ginall ald N1 ammy gl Lasd damia 8 A0 cluldl)

Learning Outcomes Covered

o G7.1.1.1.4

a. O

bl

measurement

Ay ghall S8 ¥ 0
Number of significant figures

1.987 km

4

culdlt
measurement

Ayghall S8 91 0
Number of significant figures

0.024 cm

2

ull)
measurement

L gindll A8 ) a2
Number of significant figures

0.003 mL

measurement

A ginall 218 Y 2
Number of significant figures

1,002 km

Mark(s): 5/5

Q.11: 4k 3l Lal A0 physical property

Which physical property is NOT commonly used to
separate mixtures?

Chlh g b B 55 53 g (o) Al Ay ) a2 51

A. Volume and solubility

il 4046 ¢ aaal)

B. Magnetism and density

TS ¢ Apohliieal)

C. Mass and conductivity

e ) AT

D. Density and solubility

o|0O|m|>

s AL ( A3

Learning Outcomes Covered

o 1-1-3

(S lla sl jiue 5 seaie Mansour Mesfar Nasser Salch Al Karbi( s767019 ) = 52021-2020 - Js¥1 duail) G5 - slall jlad) gl Coal

sl laal



Mark(s): 5/5
Q.12: Sl 22l MASS NUMBER

What is the mass number of the element atom
shown in the figure down?

Sald) (88l A daiagall palal] 553 ) Asl) La

Oligigp 6
6 protons
Dligyigu 7
7 neutrons
Learning Outcomes Covered
o 3-1-4
a. O
1
b. O
6
e O
;
a.:0 :
H 13 i
Mark(s): 5/5
Q.13: & 4l forces
Which of the following pictures represents contact forces? ¢ 5 598 Jiad AN gall (o
‘ .j / !
i
ERCy S ral
Learning Outcomes Covered
o 2-2-3
a. O
1
b. O
2
c i o E
: 3 H
a0
4

o gl ol jhusa ) seaie Mansour Mesfar Nasser Salch Al Karbi( s767019 ) = 52021-2020 = J5¥1 Joaill 41g5 - lall jlasall gled Cowall -l Glaial



Mark(s): 5/5

Q.14: Ll ISOTOPES

Which particles in the table below are isotopes of the Cadl puainll T & ool Jgandl b Clasuad) e
same element?
Particl Number | Number of | Number of > e 3 |
articie umber umbper o umber o QUJJ:\S.HI ﬁu_}f‘jﬁ-“‘ QUJSJJ:JI
of protons | neutrons electrons
1 1 1 1 1 1 1 1
2 2 2 2 2 2 ) 2
3 3 2 2 2 2 3 3
4 1 2 1 1 2 1 4
A. 1and?2 251 A
B. 2and 3 352 .B
C. 3and 4 453 .C
D. 1and 4 451 .D
Learning Outcomes Covered
o G74.1.1.4
a. O
A
b. O
B
c. O
C
alo T
] D
Mark(s): 5/5
Q.15: s sl dass NET FORCES
Using the figure shown below oLl el Gaadin
What is the net force on the object? Taeall (2 Bagall dlaaal BRll ke Le
~ T |
20 kg 3 N
2 N
A. 7 N to the right Ceadl 7N A
B. 4 N to the right Gl AN B
C. 1 N to the left St MAN C
D. 2 N to the left Jdd 2N D
Léarning Outcomes Covered
o 2-2-3
a. O
A
wio T :
c. O
C
d. O
D
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Mark(s): 5/5

Q.16: S pailoas property of metals

Which of the following is NOT a property of metals?

Al ailad (o gl i Lea (g

A. brittleness

dalagh A

B. conductivity

Juasill B

C. ductility

el A48 C

D. luster & D
Learning Outcomes Covered
o 1-1-4
o G74.1.1.4
b. O
c. O
d. O
Mark(s): 5/5
Q.17: 4l 3¥ 5 &l displacement and distance
Using the diagram shown below sl pesyl) Lardiiua
What is the Displacement between the point A and point B? 'B ahill g A Abil o 4abYl L
A. 100 km
B. 200 km
C. 750 km
D. 400 km
Learning Outcomes Covered
o 1-2-3
a. O
b. O
c. O

...........................................................................................................................................................................................
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Q.18: 5,4 Atom

individual atoms?

Which of the following is a model of element exist as 8 4la ) )33 g (B 393 0 pualel pigal g L Laa o

Learning Outcomes Covered

o 1-1-3
5
b. O
F. 0
€
QQ; el
e
e O
& o
ofe
o oe
d. O
%
@
‘ °
@ ‘o
Mark(s): 5/5
Q.19: &) Accuracy
Which student data are more accurate measurement in A8 V) & ddluld sUia) Jgand) B il Sl 6
the table shown down?
Students Boiling point data Ol A s Gl Ol iy
Student 1 | Student2 | Student3 3 Gl 2 Ll 1 _
Triall |99.9°C| 98.9°C| 99.9°C 99.9°C| 98.9°C|99.9°C| 14l
Trial 2 99.8° C 98.9°C| 98.9°C 98.9° C 98.9°C| 99.8° C 2 ‘;‘JJM'
Trial 3 99.7° C 98.9°C| 97.9°C 97.9°C 98.9°C| 99.7° C 3 A glawal)
Mean 99.8°C| 98.9°C| 98.9°C 98.9° C 98.9°C | 99.8° C _5'*«9“5‘
Boiling point (accepted value)= 100° C 100° C = (Hpiall 4adll) Gl 4 0
A. Student1 1 <lkll A
B. Student2 2 <l B
C. Student3 3l C
D. No student has accurate data 43ds 4y s gl aa e ¥ D
Learning Outcomes Covered
o G7.1.1.1.4
7
wo
c. O
d. O
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Q.20: atie clements

Using the periodic table shown below sal (59l Jgaal) ardicua
Sqlal) il 3l pa Wyalic Jolimi ) deganal) ) Jadd (53 A3 La

What is the number referring to the group whose

elements that can react with a metal and form a salt?

1314 15 1

Fernd numbers
sEvsseassemssansnnnan

Learning Outcomes Covered

o 1-1-4
o G74.1.1.4
a. O
1
o o e e e e e e e e S S S e ——— N
b.iO i
! 3
............................................................................................................
e O
4
d. O
5
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